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.tran 1u 100m

.options method=gear reltol=1m minbreak=200ps

.measure tran PPlaque AVG v(Pt1)

.measure tran PGrille2 AVG v(Pg1)

.measure tran Pout AVG v(Ps)

.measure tran Ig AVG i(v15)

.control
    run
    write results.raw
    fourier 1k v("/vg1")
    fourier 1k v("/vs")
    quit
.endc
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.save v(/diff1/Vc)

.save v(/driver_g/vg) v(/driver_d/vg)

.save v(/driver_g/vout) v(/driver_d/vout)

.save @r13[i] @r10[i] @r2[i]

.save v(/p1) v(/p2) g1=par('v(/vg1)-v(/p1)') g2=par('v(/vg2)-v(/p2)') v(/v2g1) v(/v2g2) v(/vg1) v(/vg2)

.save i(v13) v(/vin) i(v14) @r18[i]

.save v(/vs)
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.save i(v15) i(v16) i(v12) i(v9)

.save Pt2=par('i(v9)*(v(/A2)-v(/P2))')

.save Pt1=par('i(v12)*(v(/A1)-v(/P1))')

.save Pg2=par('i(v16)*(v(/v2g2)-v(/p2))')

.save Pg1=par('i(v15)*(v(/v2g1)-v(/p1))')

.save Ps=par('i(v3)*v(/vs)')
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.save v(/vf)
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vd1vd2
.save v(/vd1) v(/vd2)

vd

.save v(/vd)

.save @r23[i] @r26[i] v(/vc)
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.save i(v22) i(v23) i(v3)
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.save v(/a) @r1[i] @r19[i]

0

.save G_6V6=par('v(/driver_d/vg)-v(/driver_d/vc)')

.save V_6V6=par('v(/driver_d/vout)-v(/driver_d/vc)')

.save @R15[i]
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.save Vprim=par('v(/P1)-v(/P2)')
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.save v(/sd)
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